Chapter 6: Rational Expressions, Equations, and Functions
¢ Multiply straight across
e Divide by inverting and multiplying (KFC)
¢ To add/subtract, make sure you have a common denominator
* To simplify complex rational expressions '
o Method 1: multiply by a special one formed from the LCD of the full expression.

o Method 2: combine terms until left with the quotient of two rational expressions.
The invert and multiply.

* Expressions are undefined when the denominator is zero.

¢ To solve rational equations, multiply both sides of the equation by the LCD. Make sure
to check for extraneous solutions.

Review questions (from the online practice test):
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a.) Find the domain (express your answer in interval notation).

all réal woumbers excape x= 3 a0 Ko S
b.) Give the equation(s) of the vertical asymptote(s) adis
K = 4 5

¢.) Are there any holes? Justify your answer. -
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